## Notice for appointment of Regular / Rural Retail Outlet Dealerships

Bharat Petroleum Corporation Ltd. proposes to appoint Retail Outlet dealers in Himachal Pradesh as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the site M.). *		Financ arrange appl		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC CC-2 SC PH ST ST CC-1 ST CC-2 ST PH OBC OBC CC-1 OBC CC-2 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirem ent for operation of RO (Rs in lakhs)	Estimated fund required for developm ent of infrastruc ture at RO (Rs in lakhs)	Draw of Lots / Bidding (Rs in Lakhs)	(Rs in lakhs)	
1	BETWEEN CHAILLA AND KOTKHAI ON NH-705	SHIMLA	REGULAR	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
2	WITHIN 10 KM OF KHARAPATHAR TOWARDS HATKOTI ON NH-705	SHIMLA	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
3	Within 5 KM of Kumarhatti Chowk Towards Nahan On NH- 907A	SOLAN	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
4	BETWEEN KAFFOTA AND KAMRAU ON NH-707	SIRMAUR	REGULAR	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
5	WITHIN 5 KM OF DHAULA KUAN-GIRI NAGAR ROAD T-POINT TOWARDS NAHAN ON NH-07	SIRMAUR	REGULAR	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
6	FROM HIMACHAL BORDER TO DHARAMPUR ON NH-05 (RHS)	SOLAN	REGULAR	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
7	FROM HIMACHAL BORDER TO DHARAMPUR ON NH-05 (LHS)	SOLAN	REGULAR	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
8	Between Kandaghat and Chambaghat On NH-5	SOLAN	REGULAR	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
9	WIHTIN 5 KM OF ROTARY CHOWK TOWARDS HANUMAN TEMPLE MATTANSHID	HAMIRPU R	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5

	NEW PROPOSED ALIGNMENT OF	HAMIRPU	REGULAR	200	ОВС	DC	20	20	400	32	95	Draw of	15	4
10	HAMIRPUR BYEPASS	R	REGULAR	200	ОВС	ЪС	20	20	400	32	93	Lots	15	4
11	HAMIRPUR TOWN BYEPASS ROAD ON NH-103	HAMIRPU R	REGULAR	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
	WITHIN 3 KM FROM SANGRAH		DUDAL		ODC DII	<b>D</b> C	20	20	400	4.6	25	Draw of		2
12	TOWARDS RENUKA JI	SIRMAUR	RURAL	80	OBC PH	DC	20	20	400	16	35	Lots	5	3
13	BANGRAN TO KHODOWALA TEHSIL PAONTA SAHIB	SIRMAUR	RURAL	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
14	BETWEEN BLUE STAR PUBLIC SCHOOL AND KUTHERA ON HAMIRPUR SUJANPUR ROAD	HAMIRPU R	RURAL	70	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
15	ON LADRAUR -JAHU BYEPASS ROAD WITHIN HAMIRPUR DISTRICT	HAMIRPU R	RURAL	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
16	VILLAGE MAHARAL ON BIJHARI- BERTHIN ROAD DISTRICT HAMIRPUR	HAMIRPU R	RURAL	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
17	VILLAGE THEDA TEHSIL BADDI	SOLAN	RURAL	100	OBC CC1	DC	20	20	400	16	35	Draw of Lots	5	3
18	VILLAGE RANA GHAT TEHSIL RAJGARH ON CHAILLA- YASHWANT NAGAR- KUMARHATTI ROAD	SIRMAUR	RURAL	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
19	VILLAGE SADHRAYAN TEHSIL BHORANJ	HAMIRPU R	RURAL	50	OPEN CC1	DC	20	20	400	16	35	Draw of Lots	5	4
20	WITHIN 5 KM OF NADAUN BUS STAND ON HAMIRPUR -AMB ROAD NH-03	HAMIRPU R	REGULAR	150	OBC CC 1	DC	20	20	400	32	95	Draw of Lots	15	4
21	WITHIN 5 KM FROM NAMHOL TOWARDS BRAHMPUKHAR ON NH-205	BILASPUR	REGULAR	150	OBC CC 1	DC	20	20	400	32	95	Draw of Lots	15	4
22	BETWEEN KM STONE NO 130 TO 140 (LHS) ON KIRATPUR MANALI ROAD NH- 154	BILASPUR	REGULAR	250	ОВС	DC	20	20	400	32	95	Draw of Lots	15	4
23	WITHIN DISTRICT SHIMLA ON HATKOTI ARAKOT ROAD ON NH-707	SHIMLA	REGULAR	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
24	WITHIN 5 KM FROM KUMARSAIN TOWARDS RAMPUR ON NH-05	SHIMLA	REGULAR	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
25	WITHIN DISTRICT SHIMLA ON SHOGHI SHALAGHAT NEWLY PROPOSED ALIGNMENT	SHIMLA	REGULAR	150	OPEN CC 1	DC	20	20	400	32	95	Draw of Lots	15	5
26	BETWEEN NIRATH AND RAMPUR BUSHAHR ON NH-05	SHIMLA	REGULAR	170	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
27	WITHIN 5 KM FROM TUTIKANDI BUS STAND ON NH-05	SHIMLA	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
28	BETWEEN KM STONE 147 TO 152 (RHS) ON NH-154, KIRTAPUR MANALI ROAD	BILASPUR	REGULAR	250	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
29	BETWEEN BADDI TO NALAGARH (RHS) ON NH-105	SOLAN	REGULAR	250	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4

30	BETWEEN BADDI TO NALAGARH (LHS) ON NH-105	SOLAN	REGULAR	250	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
31	WITHIN 2 KM FROM DAV SCHOOL RECKONG PEO EXCEPT ON NH-05	KINNAUR	REGULAR	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
32	VILLAGE SURAJ MAJRA GUJRAN ON SUNCITY ROAD	SOLAN	RURAL	100	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
33	KUTHAR TO BANALGI	SOLAN	RURAL	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
34	WITHIN 3 KM OF ULTRATECH CEMENT PLANT ON BAGHERI TO PANJHERA ROAD	SOLAN	RURAL	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
35	VILLAGE KASAULI TEHSIL KANDAGHAT ON KANDAGHAT CHAIL ROAD	SOLAN	RURAL	55	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
36	WITHIN 7 KM FROM KASAULI CHOWK ON NH-05 TO KASAULI	SOLAN	RURAL	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
37	BETWEEN MAMLIGH TO SAIRI WITHIN DISTRICT SOLAN	SOLAN	RURAL	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
38	VILLAGE THAID PURA TEHSIL BADDI ON MDR-75	SOLAN	RURAL	65	OPEN CC1	DC	20	20	400	16	35	Draw of Lots	5	4
39	VILLAGE RAKH RAMSINGH TEHSIL NALAGARH ON NEW NALAGARH BYEPASS	SOLAN	RURAL	70	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
40	WITHIN 3 KM OF TUTUPANI ON BAGHI ROHRU ROAD	SHIMLA	RURAL	70	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
41	MEHNDLI -SAMOLI BYEPASS ROAD TEHSIL ROHRU	SHIMLA	RURAL	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
42	BETWEEN KHANETI AND BATARI ON KOTGARH KHANETI ROAD	SHIMLA	RURAL	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
43	WITHIN 2 KM FROM KANGAL BUS STAND TOWARS BARAGAON TEHSIL KUMARSAIN	SHIMLA	RURAL	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
44	VILLAGE DHALI TEHSIL KOTKHAI	SHIMLA	RURAL	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
45	BETWEEN BADHERI TO TOTU CHOWK	SHIMLA	RURAL	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
46	WITHIN DISTRICT SHIMLA ON CHAILLA- YASHWANT NAGAR - KUMARHATTI ROAD	SHIMLA	RURAL	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
47	VILLAGE NADUKHAR TEHSIL SEONI ON MDR-76	SHIMLA	RURAL	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
48	BETWEEN MASHOBRA AND NALADHERA MDR-76	SHIMLA	RURAL	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
49	WITHIN 5 KM OF SHONGTONG BRIDGE ON NH-05	KINNAUR	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
50	WITHIN 3 KM OF CHOPAL ON CHOPAL NERWA ROAD EXCEPT ON NH AND SH	SHIMLA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

51	ON NALAGARH- Swarghat Road with Solan District limits(RHS) ON NH-105	SOLAN	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
52	On Nalagarh- Swarghat Road with Solan District limits (LHS) ON NH-105	SOLAN	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
53	WITHIN 5 KM OF RONHAT ON NH-707 TOWARDS SHILLAI	SIRMAUR	REGULAR	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
54	BETWEEN KM STONE NO 21 TO 26 (RHS) ON KIRATPUR MANALI ROAD NH- 205	BILASPUR	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
55	BETWEEN KM STONE 16 AND 21 (RHS) KIRATPUR MANALI ON NH-205	BILASPUR	REGULAR	250	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
56	VILLAGE GANGUWALA JAMANIWALA TEHSIL PAONTA SAHIB DISTT SIRMAUR	SIRMAUR	RURAL	100	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
57	BETWEEN KHARO BRIDGE AND AKPA BRIDGE ON NH-05	KINNAUR	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
58	BETWEEN KAITHALIGHAT AND DHALLI ON NEWLY PROPOSED ALIGNMENT	SHIMLA	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
59	VILLAGE BAROTI WALA TEHSIL PAONTA SAHIB DISTT SIRMAUR	SIRMAUR	RURAL	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
60	WITHIN 5 KM FROM HP ENTRY TAX BARRIER AT KALA AMB DISTT SIRMAUR (LHS) ON NH-07	SIRMAUR	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
61	FROM HP ENTRY TAX BARRIER AT KALA AMB TO KM STONE NO 53 ON NH-07 (RHS)	SIRMAUR	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
62	BETWEEN KM STONE 132 TO 137 (RHS) ON KIRATPUR MANALI ROAD, NH-154	BILASPUR	REGULAR	250	ОВС	СС	20	20	400	32	12	Bidding	30	4
63	GURU GOBIND SINGH CHOWK TO MAHADEV CHOWK DISTT SIRMAUR ON NH-07	SIRMAUR	REGULAR	200	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
64	BETWEEN KM STONE 142 TO 147 (RHS) ON NH-154, KIRTAPUR MANALI ROAD	BILASPUR	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
65	VILLAGE LADHYANI TEHSIL BHARARI DISTT BILASPUR	BILASPUR	RURAL	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
66	VILLAGE SUNHANI TEHSIL JHANDUTA DISTT. BILASPUR	BILASPUR	RURAL	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
67	WITHIN 2 KM FROM SHALUGHAT TEMPLE, VILLAGE SAI BRAHMNA, TEHSIL SADAR	BILASPUR	RURAL	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
68	VILLAGE SAI BRAHMANA, BETWEEN SAI KHARSI PANCHAYAT GHAR AND GOVT. SR. SEC. SCHOOL	BILASPUR	RURAL	160	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
69	BETWEEN KM STONE NO. 2 & 3 ON SOLAN-SUBATHU ROAD	SOLAN	RURAL	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4

70	BADDI MC OFFICE TO VILLAGE SURAJ MAJRA GUJRAN ON BADDI- BAROTIWALA ROAD	SOLAN	RURAL	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
71	BETWEEN KM STONE NO 140 TO 145 (LHS) ON NH-154, KIRTAPUR MANALI ROAD	BILASPUR	REGULAR	250	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
72	VILLAGE MUSSEWAL ON NALAGARH- ROPAR ROAD	SOLAN	RURAL	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
73	BETWEEN GOVT. PRIMARY SCHOOL KOTLI SADHORI AND GOVT. COLLEGE RAJGARH	SIRMAUR	RURAL	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
74	VILLAGE MANPURA TEHSIL BADDI	SOLAN	RURAL	120	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
75	VILLAGE KAUNTA WARLA TEHSIL KASAULI	SOLAN	RURAL	70	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
76	From Chamba to Khajjiar	СНАМВА	RURAL	90	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
77	From Binna to Tunuhatti within Distt Chamba	СНАМВА	RURAL	70	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
78	From Dalhousie to Khajjiar	СНАМВА	RURAL	90	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
79	Mohaal Sarol Tehsil Chamba	СНАМВА	RURAL	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
80	Within Municipal limits of Chamba(Not on NH or SH)	СНАМВА	REGULAR	370	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
81	From Claret Inn Hotel to Chamba on NH154A	СНАМВА	REGULAR	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
82	In between Village Kandla to Village Badoh on Chamba-Tissa road, Dist Chamba	СНАМВА	RURAL	70	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
83	From Chamba to Bharmour on NH154A	СНАМВА	REGULAR	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
84	In between KM stone 64 to 69 from Banikhet to Chamba on NH154-A	СНАМВА	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
85	From Yol to 53 mile via Bhatehar	KANGRA	RURAL	90	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
86	From Dharamshala to Yol on MDR 78(Outside Dharamshala Municipal limit)	KANGRA	RURAL	150	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
87	From Dharamshala to Chambi Bridge via Dodhamb on MDR45 (Outside Dharamshala Municipal limit)	KANGRA	RURAL	90	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
88	within 2km from Guler railway station towards Nagrota Surian road	KANGRA	RURAL	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
89	Mohal-Pandtehar, Sub-Tehsil-Sulah, Distt. Kangra	KANGRA	RURAL	70	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
90	Mohaal Surajpur Jhikla Tehsil Indora	KANGRA	RURAL	90	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

	Between Thural market to Bairghata	KANGRA	RURAL	70	OPEN	DC	20	20	400	16	35	Draw of	5	4
91	Bus stop on MDR 86	KANGKA	NUNAL	70	OPEN	DC	20	20	400	10	33	Lots	<u> </u>	4
92	Village- Panti, Tehsil-Jaisinghpur, On Shivanagar to Sujanpur Tira road	KANGRA	RURAL	80	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
93	From Dharamshala to Macleodganj on NH503	KANGRA	REGULAR	250	ОВС РН	DC	20	20	400	32	95	Draw of Lots	15	4
94	From Ranital to Jwalamukhi on NH303	KANGRA	REGULAR	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
95	From Matour to Chambi Bridge on NH154	KANGRA	REGULAR	190	ОВС	DC	20	20	400	32	95	Draw of Lots	15	4
96	From 32 mile chowk to Dramann on NH154	KANGRA	REGULAR	150	ОВС	DC	20	20	400	32	95	Draw of Lots	15	4
97	Within Municipal Limits of Palampur(not on NH or SH)	KANGRA	REGULAR	120	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
98	within 5 km of shahpur police station on NH 154 on LHS Mandi to Pathankot	KANGRA	REGULAR	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
99	Between Milestone 38 & 42 from Pathankot to Mandi on NH154 on LHS	KANGRA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
100	Village Damtal on RHS while moving from Pathankot to Jalandhar on NH 44	KANGRA	REGULAR	300	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
101	From Samela to takipur on NH503 on LHS DisttKangra	KANGRA	REGULAR	230	OPEN CC 1	DC	20	20	400	32	95	Draw of Lots	15	5
102	Village-Harshar, Tehsil-Jawali, on Nagrota Surian to Jawali road	KANGRA	RURAL	100	OPEN CC1	DC	20	20	400	16	35	Draw of Lots	5	4
103	Village-Rirkumar ,Sub Tehsil-Darini From shahpur to Darini Road	KANGRA	RURAL	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
104	Village Naleti from Middle school Naleti to Sanskrit Mahavidyalay, Tehsil- Dehra Gopipur	KANGRA	RURAL	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
105	Village-Tibbi from Kathgarh to Indora road	KANGRA	RURAL	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
106	From Dharamshala To Matour via Bagli on NH503	KANGRA	REGULAR	250	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
107	Within Municipal limits of Dharamshala (Not on NH or SH)	KANGRA	REGULAR	250	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
108	Mohal-Koti, Sub-Tehsil-Panchrukhi on Panchrukhi to Lambagaon road	KANGRA	RURAL	70	OPEN CC2	DC	20	20	400	16	35	Draw of Lots	5	4
109	In between KM stone 1 & 2 on MDR 83, Nurpur to Lahru	KANGRA	RURAL	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
110	Mohal Charod on Jassur-Gangath road , Sub-Tehsil-Gangath	KANGRA	RURAL	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
111	within 2KM from Vill-Pandtehr,Teh- Baijnath Pathankot - Mandi On New Proposed By pass NH154	KANGRA	REGULAR	170	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5

112	FROM Pathankot to Mandi on RHS ON NH 154 WITHIN 2KM FROM VILL-JHIKLI AMBBARI, TEH-NAGROTA BAGWAN	KANGRA	REGULAR	220	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
113	From Chakki Bridge to KM stone no. 358 on NH44 LHS	KANGRA	REGULAR	400	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
114	From Sheela chowk to Chaitru road(Outside Municipal Limits)	KANGRA	RURAL	120	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
115	From Dhaliara to Bharwain on NH503 DisttKangra	KANGRA	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
116	From Jassur to Nurpur on NH154	KANGRA	REGULAR	250	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
117	within 5km from Jwalamukhi bus stand towards Nadaun on NH303 on LHS	KANGRA	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
118	within 5km of Sainj on Sainj-Larji road	KULU	RURAL	70	SC CC1	CFS	20	20	400	0	0	Draw of Lots	0	2
119	Mohal Bradha Tehsil Bhuntar on Hathithan-Manikaran road	KULU	RURAL	140	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
120	within 2KM from Nirmand bus stand towards Rampur Bushahr DisttKullu	KULU	RURAL	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
121	Within Municipal Limits of Kullu (not on NH or SH)	KULLU	REGULAR	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
122	From Gammon bridge Kullu to Hathithan on new NH 03	KULLU	REGULAR	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
123	between Raison and Gammon bridge kullu on NH 03	KULLU	REGULAR	180	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
124	From Hathithan to Bajaura Bridge on Bhuntar By pass on NH03 on LHS	KULLU	REGULAR	180	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
125	From Manali to Solang on NH03 within DisttKullu	KULLU	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
126	between Manali and Patlikhul on NH03 within 10kms from Manali	KULLU	REGULAR	170	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
127	within 10km from Kaza towards Gramphu on NH505	LAHAUL & SPITI	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
128	From Dalang to Tandi on new NH03 on LHS	LAHAUL & SPITI	REGULAR	150	OBC	СС	20	20	400	32	12	Bidding	30	4
129	From Tabo to Poh on NH505	LAHAUL & SPITI	REGULAR	150	OPEN CC 2	DC	20	20	400	32	95	Draw of Lots	15	5
130	From Tabo to tipta on NH505	LAHAUL & SPITI	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
131	From Jahu to Sarkaghat road within DisttMandi	MANDI	RURAL	150	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
132	Village Chamdar Tehsil Karsog on Sundernagar Karsog road	MANDI	RURAL	90	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
133	From Baijnath to Dharampur on MDR 57	MANDI	RURAL	90	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

	Village Barot, Tehsil Padhar Distt.	MANDI	RURAL	70	OPEN	DC	20	20	400	16	35	Draw of	5	4
134	Mandi	IVIANDI	NUNAL	70	OPEN	DC	20	20	400	16	33	Lots	<u> </u>	4
	Within 2km of Village- Kunnu Tehsil Padhar from Mandi to Pathankot	MANDI	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of	15	5
135	NH154	IVIANDI	REGULAR	150	OPEN	DC	20	20	400	32	95	Lots	15	)
	From Aut to Jhiri on NH03 on RHS Distt-	MANDI	REGULAR	150	OPEN PH	DC	20	20	400	32	95	Draw of	15	5
136	Mandi	IVIANDI	REGULAR	130	OFLINFII	DC	20	20	400	32	93	Lots	15	,
137	between KM stone 156 to 161 on NH 154(Kiratpur-Mandi) RHS	MANDI	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
137	On Pandoh By pass on NH03, District-											Draw of		_
138	Mandi	MANDI	REGULAR	150	OPEN	DC	20	20	400	32	95	Lots	15	5
	From Pungh TO Naulakha on	MANDI	REGULAR	200	OPEN	DC	20	20	400	32	95	Draw of	15	5
139	Sundernagar City By pass on NH154											Lots		_
	Village-Dabrot, Tehsil- Dharampur, From Dharampur to Sandhole road on	MANDI	RURAL	100	OPEN	DC	20	20	400	16	35	Draw of	5	4
140	MDR 38	1417 11451	NOTOTE	100	01211			20	100	10		Lots	J	,
141	On New Mandi By pass on NH03	MANDI	REGULAR	180	OPEN	CC	20	20	400	32	12	Bidding	30	5
	Within 2 Km of Baruhi Chowk towards	UNA	RURAL	70	OPEN	DC	20	20	400	16	35	Draw of	5	4
142	Khurwain Road											Lots		
	within 10km from Himachal tax barrier	UNA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of	15	4
143	on Hoshiarpur-Mubarikpur road											Lots		
	within 5km from HP entry tax barrier	UNA	REGULAR	250	OPEN	DC	35	35	1225	32	95	Draw of	15	5
144	towards Una on NH503E RHS From Jhalera chowk towards	_										Lots		
	Hoshiarpur on NH503A within Distt	UNA	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of	15	5
145	Una	0								-		Lots		
	From Mubarikpur to AMB on LHS on	UNA	REGULAR	150	OBC	DC	20	20	400	32	95	Draw of	15	4
146	NH503	0									- 33	Lots		·
147	within 5km from Gulmohar grand hotel towards Una on NH503	UNA	REGULAR	200	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
	Village-Thana Kalan, Within 2KM From													
	Thana Kalan market towards Una on	UNA	RURAL	110	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
148	MDR 84 on RHS													
149	From Una to Hamirpur on MDR 84 Between KM stone 10 to 12	UNA	RURAL	110	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
145	Village-Loharli Nichli from Gagret to		2	70	0.0511				100	1.5	25	Draw of		
150	Khad Panjawar road	UNA	RURAL	70	OPEN	DC	20	20	400	16	35	Lots	5	4

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

\* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.bharatpetroleum.in / www.hindustanpetroleum.com / www.jocl.com / www.petrolpumpdealerchayan.in ) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of Site	Category	Applicati on fee in Rs.	Type of RO	Type of Site	Category	Applicati on fee in Rs.	
Regular	CFS	SC/ST	3000	Rural ROs	CFS	SC/ST	2500	
ROs	СС	ОВС	5000		СС	ОВС	4000	
	cc	Open	10000		С	Open	8000	
	DC	ОВС	5000		DC	OBC	4000	
	DC	Open	10000		DC	Open	8000	

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 05 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

State	Territory	Distt Cove	Address	Contact no
HIMACHAL PRADESH	AMBALA	ALL DISTTS.	Territory Coordinator ( Retail ), Bharat Petroleum Corporation Limited, POL Depot, Lalru, Village Alamgir, Post Tiwana, Tehsil Dera Bassi, District Mohali, Punjab- 140501	7526851555